"DRI’(®)o

TAN 7V TN

q10'N1 AN M7"AN

1.| 55+43 = 11.| 211+85=

2. 11+98 = 12.| 132+179=

3.1 17+19= 13.| 281+57 =

4.| 33+48= 14.| 66+88 =

5.1 3+68= 15.| 1000-550 =

6.| 25+14 = 16.| 400-120 =

7.| 203-107 = 17.| 29-13=

8.| 153-76= 18.| 94-46 =

9.] 500-394 = 19.| 210-80=
10.| 408 -295 = 20.| 10000-100 =

www.onexone.co.il — TnX 7y TAX "unId'oo




"DRI’(®)o

TAN 7V TN

NRIYN —1io'ni 1ia'n

1.| 55+43=98 11.| 211+85 =296
2.| 11+98 =109 12.| 132+179 =311
3.1 17+19=36 13.| 281+57 =338
4.1 33+48=81 14.| 66+88 =154
5| 3+68=71 15.| 1000 -550 =450
6.| 25+14=39 16.| 400-120 =280
7.| 203-107 =96 17.| 29-13=16
8.| 153-76=77 18.| 94-46=48
9.| 500-394 =106 19.| 210-80=130
10.| 408-295=113 20.| 10000 -100 =9900
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TAN 7V TN

o"'7"'w 120N

1.| 10+(-5) = 11.| —9+(4)+(-D)—-(+7) =
2.| (1D+(-14)= 12. | H+4)—(+9)—(-6)—-1=
3.| 5-(-10)= 13.| 1+2—(-3)+(—4) =

4. (-3)+6= 14.| —5+(-6)+(-7)—(+8) =
5| 7-2+5-2= 15.| (-10)-12+15-(-8) =
6.| —11-20= 16.| (~20)—(-6)+(-15) =

7.| 6-10-6-10 = 17.| 4—(-8)+(-6)—-2=

8.| 4+2+3-6= 18.| 25-9—(-8)+(-28) =
9.| -1-7-1+9= 19.| 8+(-9)—(-10)+(-9) =
10.| -47+25= 20.| (-12)+35+(-27)+(-5) =
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NnRIYN - 071"y 1manan

1.| 10+(-5)=5 11.| 9+ (4)+(-)-(+7)=-21
2.| (1D+(-14)=-25 12. | H+4)—(+9)—(-6)-1=0

3.| 5-(-10)=15 13.| 1+2—(-3)+(4)=2

4.| (-3)+6=3 14.| —5+(-6)+(-7)—(+8) =26
5| -7-2+5-2--6 15.| «(-10)-12+15-(-8)=21
6.| —11-20=-31 16.| (—20)—(-6)+(~15)=-29
7.| 6-10-6-10=-20 17.| 4—(-8)+(-6)-2=4

8.| 4+2+3-6=-5 18.| 25-9-(-8)+(-28)=—4
9.| -1-7-1+9=0 19.| 8+(-9)—(-10)+(-9)=0
10.| —47+25=-22 20.| (-12)+35+(-27)+(-5)=-9
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TAN 7V TN

0210 DY NI7IYD

1.| 10-(3+6)-12= 11.| 8+(10—(12—(14-13)+9)-7)-5=
2.| 2-(8-5+9)= 12.| —22-[2-(5-(7-10)+12)-4]+10=
3.| (21-3+5)-3= 13.| (-5+7-9)-(10+1) =

4.| 8—(4-7+2)= 14.| 9-(3-8)-(8-3)=

5.| 29-[3-(15+12)]= 15.| «(9+12—-5+18)—(-30+15) =

6.| —[12-(-4+2)-6]+2= 16.| —30+[-14+5-7-(3-2-4)+13]=
7. 9-(15-4-(16-18)+4) = 17.| 24-[7-(6+5-(1-2)-4)]=

8.| (5+8-3)-(4-1)= 18.| 17-[4—(4-6-(4+12)-5)] =

9. 4+(8-5+7-(9-12)-4) = 19.| 15+[1-(7+2-(4-2)+9)] =

10.| «(-1-2+6)-[4-9+(14-20+8)-8]= 20.| 2+(3-(4—-(5-6)+7)-8)+9=
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TAN 7V TN

NRIYN - D210 DY NI7IYD

1. 10-(3+6)-12=-11

2. —2-(8-5+9)=-14

3. —~(21-3+5)-3=-26

4. 8-(4-7+2)=9

5. 29-[3-(15+12)] =53

6. -[12-(-4+2)-6]+2=-6

7. —9-(15-4-(16-18)+4) =26

8. —~(-5+8-3)-(4-1)=7

9. 4+(3-5+7-(9-12)-4)=8

10. ~(-1-2+6)-[4-9+(14-20+8)-8]=8
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TAN 7V TN

(Qwnn) NIIYN — 0210 0y Ni7ys

11. 8+(10—(12-(14-13)+9)-7)-5=-14
12. —22-[2-(5-(7-10)+12)-4]+10=10
13, ~(-5+7-9)-(10+1) =14

14. 9-(3-8)-(8-3)=9

15, ~9+12-5+18)—(-30+15) = -19

16. —30+[-14+5-7-(3-2-4)+13]=-30
17. 24-[7-(6+5-(1-2)-4)]=25

18. 17-[4—-(4-6—(4+12)-5)|=-10

19. 15+[1-(7+2—-(4-2)+9)]=0

20. 2+(3-(4-(5-6)+7)-8)+9=-6
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0'M210 197 o1'n NXXIN 712N

1.| -10x-7y—-4z= 6.| —6ab—24bc +30db =
2.| 2y —z—x= 7. 11x+14y-9z =

3.| 5a+3b-8c= 8.| 2k —-18n+2p=

4.] 3x-9x° -27y = 9. X2—2y? +7xy =

5.| Bx—15xy+yz = 10.| -5a® +20b—4c® =
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"DRI’(®)o

TAN 7V TN

NAIYN - 020N '197 01'N NXXIA 712N

1. | -10x—-7y—-4z=—10x+7y+4z) 6.| —6ab—24bc+30db =—-6b(a+4c—5d)
2. | 2y*—z2—x=—(-2y*+2+X) 7. 11x+14y -9z = (-11x - 14y +97)
3. | 5a+3b—8c=—(-5a—-3b+8c) 8.| 21k —-18n+2p =—21k+18n-2p)
4. | 3x—9x* =27y = -3(—x+3x* + 9y) 9.| X*=2y? +7xy =—(—X* +2y* = 7xy)
5. | 5x—15xy + yz = —(-5x+15xy — yz) 10.| —5a” +20b—4c® = —(5a” —20b + 4c’ )
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

TAN 7V TN

64x4 =

55x11=

7x9=

25x23 =

6x7=

17x13=

63x5=

71x8 =

81x10=

134x7 =

47%x6 =

T71x4=

128x6 =

69x9 =

S57Tx7=

16x35=

80x40 =

43x4 =

78x11=

13x58 =

792 112N
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10.
11.
12.
13.
14.
15.
16.
17.
18.
19.

20.

64 x4 =256

55x11 =605

7x9=63

25x23=575

6x7 =42

17x13=221

63x5=315

71x8 =568

81x10=810

134x7 =938

47x6=282

77x4=308

128x6 =768

69x9 =621

57x7=399

16x35 =560

80x40 =3200

43x4 =172

78x11=858

13x58 =754

192 7127N - NIV
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2930 ni?

2 3 4 5 6 7 8 9

4 6 8 10 12 14 16 18
6 9 12 15 18 21 24 27
8 12 16 20 24 28 32 36
10 15 20 25 30 35 40 45
12 18 24 30 36 42 48 54
14 21 28 35 42 49 56 63
16 24 32 40 48 56 64 72
18 27 36 45 54 63 72 81
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10.

TAN 7V TN

121h1="2

455|5="7

636106 = ?

32814 =7

860143 ="2

19614 =2

612118 =2

85612 ="

96613 ="

728l91="2

217'n "727n

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

256016 =?

1057 =2

135015 ="

32713="

200025 =2

21627 =2

28836 =2

360124 =2

495|33="7

1688 =2
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"DRI’(®)o

TAN 7V TN

Z'7'n 720N niwn

1. 121h1=11 11. 256016 =16
2. 455/5=91 12. 1087 =15
3. 636106=6 13. 135h5=9
4. 308l4=82 14. 32713=109
5. 860143=20 15. 200l25=8
6. 106014 =14 16. 216l27=8
7. 612h8=34 17. 288l36=8
8. 8562 =428 18.  360l24=15
9. 966l3=322 19. 49533=15
10. 72gl91-8 20. 168l8=21
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"DRI’(®)o

10.

TAN 7V TN

25x4 3
_—X—=
2 5

20 6

—x—x4=

9x8 7
X =

144 15
6x2 5

49+7x6+3x5=

Ix9x2+3+6=

3x6x5x11
33

271yn pi''ni 793 720N

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

121+11x8+4x3+33=

15x15+5+9%x8 =

32x5+4x6+30=

169+13x6+3=

7N\
R
@ | x
D
;/

ESS
X

&N
(%)
(i,xl%J
(7x38)
(Be2)

4x7+2x5+10=

N——

(o2}

5x

N

[y
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"DRI’(®)o

TAN 7V TN

211yn pi'z'ni1 793 721200

25x4 3 100 3 50 3 10 3 11. 121+11x8+4x3+33=2
X—=——Xx—=-—X—=—x—=30
2 5 2 5 1 5 11
12. 15x15+5+9x8=40
@x§x4:4x3x4:48
5 2
13. 32x5+4x6+30=8
8 T _ T2 T AT 1o7-84 o
2 3 2 3 21
12x3 36 14. 169+13x6+3=26
=—=12
6 3
2
15.
7x8 3 56 3 283 5 1 o 6x28 6x28 3x8_4 24 . o4_us
4 2 4 2 4 1 7x12 7x12 1 2 1
1
3x8
16.
64 10 5 4x5x5-100 S4x3 _54x3 2 _6x3 1_
16 2 9 9 6 1 3
6
2
17.
144XE=%XE=12X3=36 44><4:44><4><4><4:4><4><4><4:32
6x2 5 12 5 8 8 11 8
11
4x4
49:7%x6+3x5=70 18. 65x2 _65><2><15><10_§X3X10_§x%_3
50 50 5x26 25 26 5 26
5x 26
15x10
Ix9x2+3+6=9 19. 14x19
(7><38j_(_1)_2
133x2 1
266x2 2
20. 4x7+2x5+10=7
3><6><5><11=6><5><11=6><5=30
33 11
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TAN 7V TN

[1A¥N NI7Y9 170 712N

1.| (-9)x5+10-15+3= 11.| (32-17)x4x9+3-50+5=
2.| 20+4+8x2-7= 12.| 9x17-152-2 =
14
3.| 92-11x2-24=4= 13.| 800+(-5)-[2(87-53)] _
4
4. —25-42+6+18x2+4= 14.| [(15x8+15)+27+45]x8+20 =
5.| 23-12x(-5)+49+7 = 15 | (214-81+36)+13x4+10
5x(4+3)x3-74
6 3x12-18 16 (41><4+67)+(—3)_
| 6x8+6 | (64+57)+11
38+71x6+3
| (31x4+8)+(3) 17| 90:5+12
: (5+6)x3 ' 3x6+18
20x10+10
g | 24726 23+31_ 18.| (9+14x6+4)x3+(-5)+7 =
31+11 23+37
(8><8)—(7><9)_
9| 5x(8+13) 19. | (20+35)x2[-46(5x 4—20)] =
1
3x4-5
8x9+4x8 _ 192+ 48+15)x3-45+3-7x5=
101 Z(gvax1y) 20.| (192+48+15)>3-45+3-7x5=
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TAN 7V TN

NRAIYA - IAUN NI7IYD 170 712N

1. (-9)x5+10-15+3=-40
2. 20+4+8x2-7=14
3. 92-11x2-24+4=64
4. ~25-42+6+18x2+4=-23
5. 23—12x05)+49+7=90
5 3x12-18 _36-18 18 1
' 6x8+6 48+6 54 3
(31x4+8)+(-3) (124+8)+(-3) 44 _ 4 _ 1
’ (5+6)x3 33 33 3 3
44+26 23+31 70 54 7 54 1.9 9 3 1
8. X = X— = X— = Xx—=—=1—=1=
31+11 23+37 42 60 42 6 6 1 6 6 2
(8x8)-(7x9)  64-63 1 1 1
g 5x(8+13)  5x21x(12-5) 5x21x7 105x7 735
1
3x4-5
8x9+4x8  72+32 104
10. = ===

—(8+4x11) —(8+44) -52
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"DRI’(®)o

TAN 7V TN

(Qwnn) nIvn — awn Ni7ys 1710 712N

11. (32-17)x4x9+3-50+5=170
12. 9x17-152- 0 -8 _ 4
14 14 7
13 600+ (-5)-[-2(87-53)] -120-(-2x34) -120-(-68) -120+68 -52 13
4 4 4 4 4
14. [(15x8+15)+27+45]x8+20 = (135+27 +45)x 8+ 20 = 50x 8 + 20 = 20
- (214-81+36)+13x4+10 _169+13x4+10 62 _
' 5x(4+3)x3-74 5x7x3-74 31
16 (41x4+67)+(-3) (164+67)+(-3) -77 .
‘ (64+57)+11 121+11 11
38+71x6+3 38+142 180 180 _ 180 180x6 18x2 36
17 90+5+12  18+12 30 30x210 5x210 5x210 5x7 35
' 3x6+18 18+18 36 36 6
20x10+10 210 210
18. (9+14x6+4)x3+(-5)+7=30x3+(-5)+7=-18+7=-11
19. (20 +35) x 2[-46(5 x 4 — 20)] = 55 x 2[-46(0)| =0
20. (192+48+15)x3-45+3-7x5=19x3-45+3-7x5=57-15-35=7
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